Heightened Spice Rack Pull Down Shelf

[PRODUCT NAME]
Heightened Spice Rack Pull Down Shelf

[PRODUCT DESCRIPTION]

The heightened spice rack pull down shelf is a
chrome-plated two-tier pull-down shelf that brings
hard-to-reach items down 10.8" while pulling out
10.8" from the cabinet. This functional pullout fea-
tures a unique gas-assisted lifting/lowering mecha-
nism that provides unparalleled stability through the
entire range of motion. The Pull-Down Shelf includes
both side and bottom mount brackets and is available
for 24", 28", 32", and 36" wall cabinets.

DESIGN CONCEPT

This heightened spice pull-down shelf is an improved ver-
sion of the spice pull-down shelf. To make the spice uten-
sils more stable when pulling down, we have raised the
height of the spice rack in the design, making the higher
spice utensils more stable.

PRODUCT FEATURE

;2 BRING IT TO YOU: Bring dish and tableware to you with this convenient gas-assisted 2-tier

cabinet pull-down locking shelving system that is capable of pulling down 10.8-inches and pull-
ing 10.8 inches out of your cabinets.

.. EXTRA DURABILITY: Heavy-gauge wire construction provides extra durability and elegance,
and a storage solution for spices utensils.

.. EASY INSTALLATION: Easily mounts to the floor or interior side of a wall cabinet, and is de-
signed to fit in any wall cabinet with a width of 24", 28", 32", or 36”.

.2 DIMENSIONS: (W x D x H): (227-34")W x 11”"D x 23"H.

. INCLUDES: one pull-down shelf system and mounting hardware.



Frame Diagram

00'G.¢

- ]_1‘\ —vl— - = //—H"'--.
9 o o
fl} {
{1}

560/660/760/860 (mm)

560/660/760/860 (mm)

Basket Diagram

——

455/555/655/755(mm)

455/555/655/755(mm)

@250




P f . Net
Product Size Cabinet Material/ .
Sku Product Name (mm) Width (mm) Surface Treatment Wel(Sll(z;
22.21.00201601 Heightened Spice Rack Pull Down Shelf W560*H586*D275 600 Steel/Electroplating 6.60
22.21.00201701 Heightened Spice Rack Pull Down Shelf W660*H586*D275 700 Steel/Electroplating 6.99
22.21.00201801 Heightened Spice Rack Pull Down Shelf W760*H586*D275 800 Steel/Electroplating 7.35
22.21.00201901 Heightened Spice Rack Pull Down Shelf W860*H586*D275 900 Steel/Electroplating 7.79

NOTES ON ORDERING

The main frame is chrome-plated. If you want

stainless steel, please specify and customize the ma-
terial separately.

. This product is available in four sizes, which are
suitable for 600, 700, 800, and 900 mm wide cabi-
nets. Please specify the right size to fit the cabinet




1. Accessories:

Wire Baskel-V2"2pcs

min590

A"

Cabinet Depth(mm) |Width(mm})
600 560~564
700 660~664
800 760~764
900 860~864

A Lifiing Rod B Lifiing Rod C-L C-R D-L D-R E*2pes F*2pcs G'2pcs
J eft Side Panel|™Q Left Base Bracke! |Right Base Bmd(ety connecting pin | O-shape seal ring
H I*4pcs J'Bpes K*12pcs N*2pcs O*14pcs|  P*Bpes
harib rubber cushions axle sleeve ST4.0*16 M6*30 Flat Washer M4°5
QiWire Basket) Q(Wire Basket)
Wire Basket-\"Zpes




3. Installation Steps:

Step 1. Assemble the left and right base brackets (D-L,D-R) using 4
axle sleeves (J), 4 M6*20 screws (M) and 4 flat washer (O) as shown.

Step 2. Attach the lifting rods (A,B) to the left and right
base brackets (D-L,D-R) as shown.

Step 3. Mount the assembled base brackets (step 2) to the side panel
of the cabinet using 12 ST4.0*16 SCREWS (k) as shown.

Step 4. Attach two wire baskets (Q) and the handle (H) to the side pan-
els (C-L,C-R) using 2 M6*30 screws (N),2 falt washers (O) and 8 M4*5
screws (P) as shown.

Step 6. Mount 2 pneumatic rods (E) to the base brackets (D-L,D-R)
using 2 connecting pins (F) and 2 O-shape seal rings (G) as shown.

Step 5. Mount the assembly 9stem 4) to the base
brackets (step3) using 4 axle sleeves (J), 8 M6*12
screws (L) and 8 flat washers (O) as shown.




Installation complete

\

Spice Rack
Pull Down Shelf

\

Dish Rack
Pull Down Shelf

\7

Heightened Spice Rack
Pull Down Shelf

\

Multi-Functional
Pull Down Shelf

Step 7. Mount 4 rubber cushions (I) on the lifting rods
(A,B) as shown.

(Attention: Please be careful and do not crush your
fingers in this step.)

No. Parts Name Quantity
1 Left base bracket 1
2 Flat washer @¥8+25%1.5 12
3 M6*20 screw 4
4 Axle sleeve 8
5 Lifting rod A 1
6 Right base bracket 1
7 Lifting rod B 1
8 Pneumatic rod 2
9 Connecting pin 2
10 O-shaped seal ring 2
11 Screws M6*12 8
12 Baskets 1 set




SHIPPING INFORMATION

SKU Sets/ Net Weight/ | Gross Weight/ Package Size Sets/ Sets/ Sets/

CTN CTN (kg) CTN (kg) (mm) 20 GP 40 GP 40 HQ

22.21.00201601 1 6.60 7.00 540 * 350 * 120 1230 2550 2990
22.21.00201701 1 6.99 7.39 640 * 350 * 120 1040 2160 2530
22.21.00201801 1 7.35 7.75 740 * 350 * 120 900 1870 2190
22.21.00201901 1 7.79 8.19 840 * 350 * 120 790 1640 1930

The above container load quantity is a reference value.

Venace Intelligent Technology Inc.
http://www.venace.com



